
Exertcise 6T 
Sove Read a coite he Stale mealS od woro PTo blems 

tacfton o Lawn mocweo nMonola rtacfon o Lawn sLO o 0n Toes daly 

Reqwcred frraGfon obHhe Laan mouRe o fhege w0 ay J 

tL2 
Ho. Robert moceol ob +he Law ontep 

day S 
vantityo Suart Rajo bought kg 

QUattt4 G ul Rajv bougk x 
Totl wrlght ot both K 

SA3 k 

6oth esAt A Jhe rewere o tal Cesgal or b oth esatg 

3:|LongBh ob ri'bbon Te'na had= m 
Length O rubbon ayQ had = m 

Total Ang4h ob Tlbbbn they 6ael m +m 



An7he egot Ted ot al leogfh ob a Ta Lbo 

Ertat on or a chocolafe Bbaty ate 
Prattebn ob a cho colafe MokY att - I 

Total rtacH On 06 +h ChocoLa Key ote:1 

X+ 

Aag. The y otl Chotolate togethen 
5Lenth ok a blwe ru bhon = m 

Lenth O u tubbon es tonger than the btu 

rubbon by m 
Len gth06 A nubb 0p 

A hTewresLeth ob 7ed ru'Lboy cl 



6 Av cb rure Rama beughi K 

6 nele She Cookal t 

toegit 06 7te way Lebt 
oner 

2 

7 A k 
rttewas Leb onerto 

7Frtatttom 
Rekha ale = 

06 Cake 

Frtateon 6 CAKe Meutta afe= 

So MLTta ate one Cake by 2-1 

Ay NOeena ate more Cake y than Kekha 

8)Lengt o rubboo Meya haed :1 25): 
Length r ubbom She C 1-NSt) -6 



Length ob rulben was Labf -

m 

/m 

hs. m bboo tyes Lebt eorh Maya 

9 Gua4y ot jocte tofetb tn abotte = 2iL 
2xu lL 

QUantly 06 Jurce taken Out 

GUanHy o jvtte leyt in the bottle7E3 

L 

422 

y 1L JUte we Let in he boHLu 

lo- Hugat or Koho: m tel= m = £m 

Heyk ob Jojo shortert 7h6) Koha) by m 

heigkt or Jejo m-m 
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